Beziehungolv* und relative Buntheit c* )« oder Buntheit a* 5+, b* o«
System: B_IRS10_Z46N_NO oy = max (Iv¥) = min (o)
Ergebnis: * gy« = C*japs; t*opyx = t¥japr %=1 - max oive) = 1 -i*
4= [36, 93, 155, 244, 308, 359] |, EHSAIDET)S D=6

OIVF t s =W* + 0,5C% g

NG
J aolyr = Colyr €OS iy
b+ = C*oiy+ SIN hapy

relative Buntheit a* g+




Beziehungolv* und relative Buntheit ¢* )« oder Buntheit a* 5+, b* o«
System: B_IRS14_Z47N_N4 e = Max OIv¥) - min (olv¥)
Ergebnis: * gy« = C*japs; t*opyx = t¥japr %=1 - max oive) = 1 -i*

w* =min (olv¥) = 1 -d*
VE -t g = W* +0,5C% gy

hap,g = [38, 94, 158, 240, 296, 358] b*of
ol

At
J aolyr = Colyr €OS iy
b+ = C*oiy+ SIN hapy

relative Buntheit a* g+




Beziehungolv* und relative Buntheit c* )« oder Buntheit a* 5+, b* o«
System: B_IRS25_Z48N_N5_VT092 C* gy = max (OIv*) = min (olv*)

Ergebnis: * gy« = C*japs; t*opyx = t¥japr n* = 1 - max bive) = 1 it
w* = min (olv¥) = 1 -d*
V%o =W+ 0,5C% g

hap g = [40, 96, 156, 235, 297, 353] b*of
ol

Y
gy = Cojyr COS hyp
b*oy+ = C*aiys SN hap

relative Buntheit a* g+




Beziehungolv* und relative Buntheit c* )« oder Buntheit a* 5+, b* o«

System: B_IRS14_Z48N_N5_VT100
Ergebnis: * gy« = C*japs; t*opyx = t¥japr

hap,g = [38, 94, 158, 240, 296, 358] b*
ol

Y
¢

v

C*opyx = Max @Iv*) — min (olv*)
n* =1 - max plv*) = 1 -i*
w* =min (olv¥) = 1 -d*

o =W +0,5¢% e

aolyr = Colyr €OS iy
b*oy+ = C*aiys SN hap

relative Buntheit a* g+




Beziehungolv* und relative Buntheit c* )« oder Buntheit a* 5+, b* o«
System: B_IRS23_Z48F_N5_VT092 C* gy = max (OIv*) = min (olv*)

Ergebnis: * gy« = C*japs; t*opyx = t¥japr n* = 1 - max bive) = 1 it
w* = min (olv¥) = 1 -d*
V%o =W+ 0,5C% g

hap,q = [40, 95, 158, 237, 296, 357] b*of
ol

Y
gy = Cojyr COS hyp
b*oy+ = C*aiys SN hap

relative Buntheit a* g+




